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1 LaplaceO 00000

a) L{F(t)} = f(s) 00O, L{e“"F(t)} = f(s—e)000000DO.
b) L{esinbt} 0 OO0ODOO.

ii)DDDDDDDDD Laplace OO0 00O O0OOOOOOOODOO
oooon.

a) Y'(t) +3Y'(t) +2Y(¢) =0; Y(0)= 3)/’(0)—0.

b)Y'(t) =Y'(t) =1 Y(0)=2,Y"(0) =

) YI(I) +2Y'(1) +2V(1) = 4 Y(0)=0,Y ()—0

iii)a) L{F(t)} = f(s) 0D O, L{"F(H)} = (-1)"f"(s) DODOOO
00.

b) L{zcosz}0000O0OO.

iv) f(s) = L{F(1)}, g(s) = L{G(H)} DO DO, fls)g(s) = L{H (D)}, O
00,

H(t) = /OtF(u)G(t ) du, (1)

0o0oo00000. (1)0 FO GO0O0000 convolutionOO OO
go.

v)0OOOO0O LaplaceD OO OOOODO.
a_
'V
b) cosh at
sint

c) —

t



